DIAMOND STITCH PATTERNS

After the first diamond, six Diamond variations
are used to complete the afghan. See stitch
diagram at right for assistance.

Diamond A

Ch12.

Row 1 Fwd: Pull up a Ip in 2nd ch from hook
and in each ch across, insert hook in next st
of previous diamond and pull up a Ip—13 Ips.
Rtn: *Yo, pull through 2 Ips on hook; rep from
* across.

Rows 2-8 Fwd: Tss2tog (see Special Stitches)
over next 2 sts, Tss in each st across to last st,
Tss inc (see Special Stitches) in next sp, Tss in
last st, Tss and in next st of previous diamond,
insert hook in next st of previous diamond
and pull up a Ip—13 Ips. Rtn: *Yo, pull through 2
Ips on hook; rep from * across.

Diamond B

Row 1 Fwd: Working bet vertical bars, Tss in
each st across, Tss in last st—12 Ips. Rtn: Yo,
pull through 1 Ip on hook, *yo, pull through 2
Ips on hook; rep from * across.

Rows 2-8 Fwd: Tss inc in next sp, Tss in each
st across to last 3 sts, Tss2tog over next 2
sts, Tss in last st—12 Ips. Rtn: Yo, pull through 1
loop on hook, *yo, pull through 2 Ips on hook;
rep from * across.

Row 9: Bind off in sl st as if to Tss.
Diamond C

Row 1 Fwd: Tss in each st across, Tss in last
st—12 Ips. Rtn: Yo, pull through 1 Ip on hook,
*yo, pull through 2 Ips on hook; rep from *
across.

Rows 2-8 Fwd: Tss inc in next sp, Tss in each
st across to last 3 sts, Tss2tog over next 2
sts, Tss in last st—12 Ips. Rtn: Yo, pull through 1
loop on hook, *yo, pull through 2 lps on hook;
rep from * across.

Row 9: Bind off in sl st as if to Tss.
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Tss dec

diamond 1
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Diamond D
Ch12.

Row 1 Fwd: Pull up a lp in 2nd ch from hook
and in each ch across, insert hook in next st
of previous diamond and pull up a Ip—13 Ips.
Rtn: *Yo, pull through 2 Ips on hook; rep from *
across.

Rows 2-7 Fwd: Tss2tog over next 2 sts, Tss
in each st across to last st, Tss inc in next sp,
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Tss in last st, insert hook in next st of previous
diamond—13 Ips. Rtn: *Yo, pull through 2 Ips on
hook; rep from * across.

Row 8 Fwd: Tss in each st across—12 Ips. Rtn:
(and join to next diamond): Yo and pull up a Ip
in first st of next diamond, yo and pull through
2 sts, *insert hook in next st of diamond, yo and
pull through st and 2 Ips, rep from * across.
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